L. Calauato pencentages ofs amounts (3) Reasoning and Problen, Solving

Problem |
The price of a TV was £110.
In the sale. there was |52 off the price.
How much does it cost in the sale”
5% of £140 = £21 taken off the price
£140 - £21 = £1 19 in the sdle

Problen 2
Ot of 120 schook chldhen, 352 have a sthool dinnen
Hous marsy chiden, don’ have o school diner?
35% off 120 = 12 dhldren have school diven
120 - 12 = 78 chidren donb have o schod _0lsg

Problem 3
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The bill comes to £80. 5% o{ﬁﬂmbdlvs%mmm%hak@s
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15% of £80 = £12 for milksnakes 4«

30% of £80 = £24 fon icercreams
£36 for boh. Bungens cod £80 - £36 = £l

Problem 1+
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%anfhe%ﬁ/sa \S%W%WM How mudh would

she payy for four large pizzas?
b x £1250 = £50 for b pizzas befiore discount

|5% of £50 = £7.50 taken off Sk
£90 - £/.50 = £4250 é"“é:/

Epdoa Chalenge
1) 40x120 = 4300kg of food served per year

2) Food Percentage Amount served in a year

Vegetables 30% 1440kg

Potatoes 10% 430kg

Meat 15% 720kg

Rice 35% 1680kg

Salad 9% 432kg

Fruit 1% 4%kg




